
Dexter spent £23 on the ingredients to make 5 cakes for a Comic 
Relief bake sale.

The ingredients to bake A and B cost £8
The ingredients to bake B and C cost £11
The ingredients to bake A and C cost £9
The ingredients to bake C and D cost £7

How much did the ingredients cost for each individual cake?

Each cake can be cut into 8 equal slices.
How much should Dexter charge per slice to make £35 profit?

A B C D E



Answers

     A = £3             B = £5             C = £6             D = £1            E = £8

£1.45
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